SampleQuestionsof Examination for Reqgistration asa Grade B Electrical Worker

1. Which of the following methodsmust be usedbefore calculatingthe equivalent
resistancéetweerpointA andB?

A) Series B) Parallel
C) Seriesandparallel D) Star-deltaransformation

2. If the earthfault currentin the circuit is 315A andthe disconnectiortime for the
protectiondevice is found to be 1.2 sec. Calculatethe size of the protective
conductorusedin this circuit. Assumethe k value of the protective conductor
used isl15.

A) 2.5mnf B) 4 mnf
C) 6mnf D) 10 mnf

3.  Which ofthefollowing testis not atypetestfor switchboard:

A) Temperatureise B) Short-circuitstrength
C) Degreeof protection D) Internalarcingfault

4. Which of thefollowingsis not correctlydescribed?

A) Three-phasenotor hasbetterp.f. andis smallerin sizefor the sameoutputas
comparedo single-phasenotor,andhasbetterefficiency.

B) Three-phasemotor is self-starting,while single-phasemotor hasno starting
torque.

C) the speedof 3-phaseinduction motor is easierto be varied when compared
with singlephaseamotor.

D) thetorqueproducedby a 3-phasamotoris of constanmnaturewhile the torque
developed by singlephasemotoris pulsating.



5.

Overloadprotectionis requiredat the point of reductionof currentcapacity. The
reducedcurrentcarryingcapacityis due to:

(i) reduction in crossectionalareaof cable

(i) differenttype ofcable.

(i) changean ambienttemperature.

(iv) cableinstalledin a differentmannerandcauseda changen heatdissipation.

A (), (i) & (i) B) (i), (ii) & (iv)
C) (i) & (iv) D) all

Whenthe low voltageelectricalinstallationis completedthe insulationresistance
to eachotherphaseshouldnot belessthan

A) 50MQ B) 10MQ
C) 1IMQ D) 0.5MQ



